Torsion in Shafts. Question 5-55 Solution

Saturday, 15 March, 2025 09:06 AM

5-55. The assembly is made of A-36 steel and consists of a solid rod 20 mm in diameter fixed to the inside of a tube using a rigid
disk at B. Determine the angle of twist at C. The tube has an outer diameter of 40 mm and wall thickness of 5 mm.
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This problem was solved by Civil Thinking (https://civilthinking.com) NOTE:

If you need solutions for Strength of Materials or any other Civil Engineering The solution provided in this document
subject, contact us at: is the intellectual property of Civil
solutions@civilthinking.com Thinking and is protected by copyright.
Or submit your problem directly here: Any reproduction, distribution, or
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